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Recall Sister Celine's Algorithm

1. Choose r,s € N (order in n, order in k).
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1. Choose r,s € N (order in n, order in k).

2. Make an ansatz for a k-free recurrence:

S iy fntik+ ).

i=0 j=0
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1. Choose r,s € N (order in n, order in k).

. Make an ansatz for a k-free recurrence:

' S
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. Divide by f(n, k) and simplify.

4. Multiply by the common denominator.

5. Perform coefficient comparison with respect to k.
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Recall Sister Celine's Algorithm

1. Choose r,s € N (order in n, order in k).

A

Make an ansatz for a k-free recurrence:
' S
chi,j'f(n+i7k+j)'
i=0 j=0

Divide by f(n, k) and simplify.
Multiply by the common denominator.

Perform coefficient comparison with respect to k.

Solve the linear system for the c; ;.
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Recall Sister Celine's Algorithm

1. Choose r,s € N (order in n, order in k).

No o A~ w

Make an ansatz for a k-free recurrence:

ros
D> iy fln+ik+ ).
i=0 j=0
Divide by f(n, k) and simplify.
Multiply by the common denominator.
Perform coefficient comparison with respect to k.
Solve the linear system for the c; ;.

Sum over the k-free recurrences and return the result.
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Examples

> (1)

> (1) = ()

> () = G

k=—n
"\ n+ k\?
I I ~~ second-order recurrence
k=0

Z(_l)k I+m\ (m+n\/n+1\ ({(+m+n)
- l+k)\m+k)\n+k)  Umln!



